MFERASRREEATERIGREXERIBREREEE
B REER
(

BETHERABEHN=TEO—% (5-4%K)

%/%

% R 1:500
xﬁsza/}>L¥ ; G| AEm=TH
120
5-5 54
Q 10. 10 6.65 2.83
> D I 2
101-3,-4,-5 fhE MR = may 101-9
2.9 = = E
101-6 l 101-8 = (”‘9130)'_6 =l as.an) | (62.50)
15.25 12,92 6.64 5.63 115 114
= 101-5 5 (29.23) 101-5 [ 109{9150 N
= 29.23 - ——= s
‘(5 . ) g 116 [ (29.2) (RN = A
116 |5 L™ (39.10) 101-3 T :
= (29.24) = 15,22 101-1 o
. 1528 101-3 of— 101-2 _ =
< (39.10) < i = =S (116.10)
Y — 101-1 = =" S /
(199.37) ) 113
1.04 =
fop 12.31 /
BEEZ-TH
HERE=TH
DHESHEFEERS TR 1 853A30A sl
bl B lEes ] _
BRETHTIIELERERERMTERR DB EOEETT. gl - DREMZRT



